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possesses energy and exe
(i) Oxygen gas
() Photon gas
(i) Electron gas

(iv) No gas
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S. Distinguish among classical statistics,

. . . ein
Fermi-Dirac statistics and Bose-Einst !
statistics.

What are the basic postulates used in
Bose-Einstein statistics? Derive an expres’+6=9
sion for Bose-Einstein distribution law. 3

Or

What are fermions? Derive a distribution law o
for them. 3+

Discuss the condition at which Bose-Einstein

and Fermi-Dirac statistics reduces to 4
Maxwell- Boltzmann statistics,

Apply Bose-Einstein Statistics to the photon
gas and derive Planck’s law of blackbody
radiation,

9. Bosons may condense at very low

temperature, Discuss on the basis of c
statistical mechanics.

10. What is the cause of degeneracy pressure

inside a white dwarf star? Explain the limit

depending on which Some stars become
Wwhite dwarf and other become neutron star e
or black hole. B s
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